Tick the correct answer:-
Q.1 write the number for the number name twenty five crore three thousand three.
ANSWER:-

(a) 25,00,03,003
Q.2 What is the place value of 7 in 47,88,09,123 ?
ANSWER:-

(b) Seven crore
Q.3 Write the number name for the number 40,000,009 .
ANSWER:-
(C) forty million nine.
Q.4 what is the predecessor of 50,00,00,000 ?
ANSWER:-

(a) 49,99,99,999
Q.5 Round off 19,68,09,245 to the nearest lakhs .
ANSWER:-

( ¢) 19,68,00,000



Q.1 write the following numbers in the PLACE value chart given below:
(a) 9,65,34,780
(b) 18,34,26,902

(c) 33,74,675

CRORES LAKHS THOUSANDS ONES
TC C TL L T.TH TH H T 0]
9 6 5 3 4 7 8 0
1 8 3 4 2 6 9 0 2
3 3 7 4 6 7 5

Q.2 write the following numbers in words :

(a) 4,56,90,203

Four crore fifty six lakh ninety thousand two hundred three
(b) 21,12,210
Twenty one lakh twelve thousand two hundred ten
(c) 90,78,47,290
Ninety crore seventy eight lakh forty seven thousand
two hundred ninety
(d) 56,132,007
Fifty six million one hundred thirty two thousand seven
(e) 37,006,765

Thirty seven million six thousand seven hundred sixty five

Q.3 write the number for the following number names:

(a) Twenty five million three hundred seventy four thousand
one hundred thirteen = 25,374,113

(b)Fifty six million = 56,000,000

(c) Ninety six million nine hundred eighty nine = 96,000,989
(d) Forty million four hundred thousand forty = 40,400,040




Q.4 write in the standard form:

(a) 40,00,00,000 +5,00,00,000 +7000 +800 +9

=  45,00,07,809

(b) 2,00,00,000 +1,00,000+3000+600+8

=2,01,03,608

(c) 8,00,000 +20,000 +400 +7 = 8,20,407

Q.5 write in the expanded form:

(a) 21,17,900 = 20,00,000 +1,00,000 +10,000 +7000 +900

(b) 4,67,89,706 = 4,00,00,000 + 60,00,000 +7,00,000 + 80,000 + 9000 +700 +6

(c) 15,41,91,321 = 10,00,00,000 + 5,00,00,000 +40,00,000 +1,00,000+90,000+1000+300+20+1

Q.6 write the predecessor and the successor of each number

NUMBER PREDECESSOR SUCCESSOR
(a)56,78,90,324 56,78,90,323 56,78,90,325
(b) 2,32,43,179 2,32,43,178 2,32,43,180
(c)13,31,342 13,31,341 13,31,343
Q.7 Round off

(a) 37,24,870 to the nearest ten thousands = 37,20,000
(b) 19,21,89,654 to the nearest lakhs = 19,22,00,000
(c) 7,68,23,732 to the nearest ten lakhs = 7,70,00,000

(d) 21,05,70,222 to the nearest crores = 21,00,00,000

Q.8 Compare each pair of numbers
(a) 7,09,44,212 >7,09,34,320

(b) 17,78,09,234 < 17,87,09,234

(c) 60,04,70,234 > 9,67,80,423

(d) 50,34,12,199 < 67,79,45,124



